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    BASICS OF HUMAN BODY (BHB-7) 

TIME – 2.00 HRS       MAX MARKS-100 

(ONLINE EXAM) 

(Section-1) 

(Short Questions) 

( ) 

Attempt only four questions out of following six: 4x10=40 

1. What is Zygote? Discuss the process of fertilization. 
  

2. Give the differences in between osteoporosis and osteopetrosis.

ऑिèटयोपोरोͧसस तथा ऑिèटयोपेĚोͧसस मɅ अतंर समझाइए   

 
3. Discuss about embryonic phases. 

एंǒĦयोǓनक फेजजे   

4. What do you understand by auto-immune diseases? 

 
5. What do you understand by Embryology? Discuss.  

ħूणͪव£ान 

6. What is rheumatic fever? Discuss. 
(Rheumatic)  

(Section-2) 
Objective questions 



All compulsory.       30x2 = 60 

 
1. The non-availability of sodium for the neuromuscular junction results in-  

(a) Diabetes    (b) Myasthenia gravis   
(c) Leucoderma   (d) None  

 
(a)    (b)  
c)  (d) 

 
2. Symptoms of nephritic  syndrome - 

(a) Whole body swelling (b) Excess amount of protein in urine 
(c) Both    (d) None 
Nephritic  syndrome  
(a)   (b)  
(c)     (d)  

3. Name of germ layers - 
(a) Endoderm    (b) Ectoderm  
(c) Both     (d) None 

(Germ layer)
(a) Endoderm    (b) Ectoderm  
(c)   (d)  

4. X-ray gives the following findings for osteo arthritis- 
(a) Shrinkage of synovial space (b) Growing of bony projection  
(c) Both     (d) None  

X-ray  
(a)  (b)   
(c)     (d)  

5. In ICSI, C stands for - 
(a) Cellular    (b) Cytoplasmic  
(c) Cytoplast    (d) None  
ICSI C  
(a) Cellular    (b) Cytoplasmic  
(c) Cytoplast    (d) 

 



6. The normal site of implantation of embryo is - 
(a) On the lower part of Uterus (b) On the anterior wall of Uterus 
(c) On the posterior wall of Uterus (d) None 

(Implantation)  
(a)  (b) 
(c)  (d) 
 

7. In Teratology we study about - 
(a) Congenital anomaly  (b) Post natal anomaly   
(c) Both      (d) None  

 
(a)   (b)  
(c)     (d) 

 
8. SGOT is related with the problem of - 

(a)  Heart    (b) Liver  
(c)  Both     (d) None 
SGOT  
(a)      (b)   
(c)     (d)  

9. The value of SGPT increases in following diseases - 
(a)  Infective hepatitis  (b) Gangrene   
(c) Both     (d) None  

SGPT  
(a)  Infective hepatitis  (b) Gangrene  
(c)  (d)

 
10. There is ______type of Osteoporosis - 

(a) 2     (b) 3   
(c) 4     (d) None  

 
(a)  2     (b) 3
(c) 4     (d) 

 
11. In Auto immune diseases macrophages start eating - 

(a) Their own body tissue  (b) Enemies antigen  
(c) Both     (d) None  

 
(a)  (b)   
(c)     (d) 



12. Symptoms of Rheumatic fever - 
(a) Poly arthritis   (b) Carditis  
(c) Both     (d) None  

 
(a)    (b)  
(c)    (d) 

 
   13.    Elevation of PAP enzyme is associated with following disease– 

(a) Prostate hypertrophy  (b) Prostate cancer   
(c) Both     (d) None  
PAP  
(a) Prostate hypertrophy  (b) Prostate cancer 
(c)     (d) 

14.  Each testes contains about ____compartments - 
(a)1000     (b) 250   
(c) 500     (d) None 

(Compartments)
(a)  1000     (b) 250  
(c) 500    (d) 

15. The growth period of Zygote to mature baby in the female uterus is known 
as - 

(a) Pre natal period   (b) Post natal period   
(c) Infancy period   (d) None  

 
(a)  Pre natal period   (b) Post natal period   
(c) Infancy period   (d)  

16. In SGPT, ‘P’ stands for - 
(a)  Pyrole      (b) Pyruvate 
(c) Pyramid    (d) None  
SGPT P 
(a)  Pyrole      (b) Pyruvate  
(c) Pyramid    (d) 
 

17. From the mesoderm of embryo arises the following - 
(a) Adrenal cortex   (b) Lymphatic system   
(c) Both     (d) None  

 
(a) (b) Lymphatic system



(c)     (d)  
 

18. The period of first four weeks after birth is known as - 
(a) Infancy period    (b) Neonatal period   
(c) Puberty period   (d) None  

 
(a) Infancy period    (b) Neonatal period 
(c) Puberty period (d) 

 
19. Period of Follicular phase - 

(a) 11-13 days    (b) 20-22 days 
(c)3-5 days    (d) None  

(Phase)  
(a) 11-13     (b) 20-22  
(c)3-5 days    (d)  

20. The normal site of fertilization is - 
(a)  Fallopian tube   (b) Ovary   
(c) Uterus    (d) None  

 
(a)     (b)    
(c)      (d) 

21. Osteo arthritis is the disease related to - 
(a) Synovial cartilage  (b) Bony joints   
(c) Both     (d) None  

 
(a)   (b)   
(c)      (d) 
 

22. Growth means - 
(a) Maturity of cell   (b) Increase in length of cell  
(c) Both     (d) None 

(Growth)  
(a) (b)  
(c)      (d) 

 
23. __________Calcium is found in bone - 

(a)  60%     (b) 99%   
(c) 75%     (d) None 

 
(a)  60%     (b) 99%   



(c) 75%   (d) 
 

24. Marble bone disease is also known as - 
(a)  Osteoporosis   (b) Osteopetrosis  
(c) Both     (d) None 

 
(a)  Osteoporosis   (b) Osteopetrosis 
(c) (d)

    25.In ALP,  P stands for –
(a) Phosphorus   (b) Phosphate 
(c) Phosphatase   (d) None  
ALP P  
(a) Phosphorus   (b) Phosphate 
(c) Phosphatase   (d) 

26. Nervous system of human body develops from______of embryo - 
(a) Ectoderm    (b) Mesoderm  
(c) Endoderm    (d) None 

 
(a) Ectoderm    (b) Mesoderm   
(c) Endoderm (d)

 
27. The use of vaccine to avoid the problems of corona virus will be called 

________Immunity - 
(a)  Acquired    (b) Natural 
(c) Physical    (d) None  

 
(a)     (b)  
(c)    (d) 

28. Normally, Uterus lies in a position of - 
(a) Anti version   (b) Anti flexion   
(c) Both     (d) None  

(a) Anti version   (b) Anti flexion 
(c)      (d) 

29. Embryology is the study of growth and development of - 
(a)  Intrauterine life     (b) New life in human uterus 
(c) Both     (d) None 



Embryology  

(a) (b)  
(c)          (d) 

 
30. A cell division in which the number of chromosomes is divided equally, is 

called - 
(a)  Mute division   (b) Mitotic division  
(c) Meiotic division   (d) None 

 
(a)    (b)  
(c)    (d) 

…………………….. 
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ASPEUS CORRESPONDENCE COURSE - SEM – 7 (MADAHS (HONOUR-1)) 

       CHINESE ACUPRESSURE (CA-7) 

TIME – 2.00 HRS        MAX MARKS-100 

      (ONLINE EXAM) 

           SECTION – 1 

                         (Short Questions) 

            ( ) 

Attempt only four questions out of following six:  4x10=40 

Qu.1. Write Eight Guiding principles and write tongue diagnosis of spleen 
blood deficiency. 
Eight Guiding principles

Qu.2. Write about Heart yang deficiency with tongue condition. 

 
 

Qu.3. Write about Tongue division according to Tripple Warmer. 
 Tripple Warmer   
 
Qu.4. Which part of the tongue is related to Liver and write about Liver 

blood deficiency. 
 



Qu.5. What does the colour of the tongue reveal in diagnosis? 
   
 
Qu.6. Write about Lungs Yin deficiency with tongue condition. 
   

 (Section-2) 
              Objective questions 
           

All compulsory.         30x2 = 60 

(1)      Chest pain will be treated by - 
(a)  Sp-4, P - 6    (b) Sp - 1, P-  2   
(c) Sp-8, P-9    (d) None 

(a)  Sp-4, P - 6    (b) Sp - 1, P-  2     
(c) Sp-8, P-9   (d) 

(2)  Frozen shoulder will be treated by - 
(a)   ND – 1    (b) ND – 2   
(c)  ND – 3         (d) None 

  
(a)  ND – 1    (b) ND – 2
(c) ND – 3    (d)  

(3)  White coating on tongue indicates - 
(a)  Hot condition     (b) Qi excess    
(c) Cold condition   (d) None 

  
(a)     (b) Qi     
(c)   (d) 



 (4)  Both arm numbness and neck pain will be treated by - 
(a)  Si-3, UB-62   (b) Si-8, UB-15    
(c) Si-4, UB-50   (d) None 

  
(a) Si-3, UB-62   (b) Si-8, UB-15  
(c) SI-4, UB-50   (d) 

(5) Dry tongue indicates - 
(a)  Deficient Body fluid  (b) Cold condition    
(c) Qi deficiency   (d) None 

  

(a) Body fluid   (b)    

(c)  Qi (d) 

 
(6) 1/3 part of Middle of the tongue relates to - 

(a) Upper warmer   (b) Lower warmer    
(c) Middle warmer   (d) None

1/3   

(a) Upper warmer   (b) Lower warmer  
(c) Middle warmer  (d)  

(7)  Treatment point of cataract in eye is - 
(a)  Gv – 21,22,23   (b) Gv – 8,9,10 
(c) Gv – 4,5,6    (d) None 

  

(a)  Gv – 21,22,23   (b) Gv – 8,9,10 
(c) Gv – 4,5,6  (d) 

 
(8)  The centre of the tongue corresponds to - 

(a) Liver     (b) KIdney   
(c) Stomach    (d) None

  

(a)  (b)   

(c)  (d) 

 



(9)  Thick yellow coating and red points on centre of the tongue indicates 
- 
(a)  Stomach heat   (b) Lungs Qi deficiency 
(c) Heart Qi deficiency  (d) None 

  

(a)    (b) Qi  

(c)  Qi   (d)  

 
(10) Lumbar spondylitis will be treated by - 

(a)  Si – 10, UB-5   (b) Si-9, UB - 17  
(c) Si – 3, UB-62   (d) None 

  

(a)  Si – 10, UB-5   (b) Si-9, UB - 17  
(c) Si – 3, UB-62 (d) 

(11) Swollen and pale tongue with anorexia may be due to - 
(a)  Liver Qi excess   (b) Deficiency of Spleen Qi  
(c) Lungs Qi excess   (d) None 

  
(a)  Qi  (b) Qi  
(c) Qi   (d)  
 

(12) Blood and blood vessels will be controlled by - 
(a)  Heart `   (b) Small Intestine    
(c) Gall Bladder   (d) None 

 
(a)     (b)  
(c)   (d)  

(13) Cramps in foot will be treated by - 
(a)  Liv- 3    (b) Liv- 5  
(c) Liv- 8    (d) None 

 
(a) Liv- 3    (b) Liv- 5 
(c)  Liv- 8  (d) 



 

(14) Black spot on forehead and tip of the tongue is pale may be due to 
- 
(a)  Lungs Qi excess   (b) Heart Yang deficiency 
(c) Stomach Qi excess  (d) None 

Tip
(a)  Qi  (b)    
(c)  Qi  (d) 
 

(15) A pale face  tongue indicates - 
(a)  Blood deficiency   (b) Heat condition   
(c) Dryness condition  (d) None 

 
(a)    (b)  
(c)  (d) 
 

(16) If Eosinophil is high treatment will be on - 
(a)  Ad meridian   (b) Fat meridian  
(c) Skin meridian   (d) None 

 
(a)  AD meridian    (b) Fat meridian  
(c) Skin meridian   (d) 
 

(17) Local point for knee pain is - 
(a)  St - 5    (b) St - 8   
(c) St - 36    (d) None 

 
(a)  St - 5    (b) St - 8   
(c) St - 36 (d) 
 

(18) Insomnia may be due to - 
(a) Large Intestine   (b) Lungs 
(c) Heart     (d) None 

 
(a)   (b)    
(c) (d)  



 

(19) Pain in Tail bone will be treated by - 
(a)  Gv – 3    (b) Gv - 10      
(c) Gv – 9    (d) None 
Tail bone  
(a)  Gv – 3    (b) Gv – 10   
(c) Gv – 9   (d)  
 

(20) Sides of tongue is more paler and scanty period may be due to - 
(a) Lungs Qi excess   (b) Liver blood deficiency 
(c) Stomach Qi excess  (d) None  

 
(a)  Qi  (b)   
(c) Qi  (d) 

(21) Red colour and no coating on tongue indicates - 
(a)  Yin deficiency   (b) Dryness condition  
(c) Qi excess    (d) None 

 
(a)  (b)   
(c) Qi  (d) 

(22) Treatment point for toothache is - 
(a) Ly-2     (b) Ly- 6  
(c) Ly - 5    (d) None 

 
(a)  Ly-2     (b) Ly-6  
(c) Ly-5 (d) 

(23) Swollen and wetter tongue indicates - 
(a)  Kidney Yang deficiency (b) Lungs Qi excess  
(c) Liver Qi excess   (d) None  

 
(a)    (b) Qi
(c) Qi (d) 



 

 
(24) Thin tongue indicates - 

(a)  Dryness condition  (b) Excess condition   
(c) Deficient condition  (d) None 

 
(a)    (b)    
(c)   (d)  

 
(25) Rt side of the tongue related organ is - 

(a)  Heart    (b) Gall Bladder   
(c) Lungs    (d) None 

 
(a)    (b)  
(c)   (d) 
 

(26) Wrist pain will be treated by - 
(a)  P-2     (b) P-4   
(c) P-7     (d) None 

(a) P-2    (b) P-4
(c) P-7 (d) 

(27) Breathlessness will be treated by - 
(a) Lu - 3    (b) Lu - 5   
(c) Lu – 10d    (d) None 

 
(a)  Lu – 3    (b) Lu - 5
(c) Lu – 10d   (d) 
 

(28) Twitching on hand will be treated by - 
(a)  Li - 11    (b) Li - 2  
(c) Li – 3     (d) None  

 
(a) Li – 11    (b) Li - 2  
(c)  Li - 3  (d)  



 

 
(29) Sciatica pain will be treated by - 

(a) Si-9 UB-15    (b) Si-8 UB-14 
(c) Si-3 UB-62    (d) None 

 
(a)  Si-9 UB-15   (b) Si-8 UB-14  
(c) Si-3 UB-62 (d)  

(30) Flaccid tongue may be due to - 
(a)  Liver      (b) Lungs   
(c) Stomach    (d) None  

 
(a)       (b)  
(c)  (d) 
   …………  
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               AYURVEDIC  ACUPRESSURE (AA-7) 

TIME – 2.00 HRS         MAX MARKS-100 

      (ONLINE EXAM) 

           SECTION – 1 

              (Short questions) 

            ( ) 

Attempt only four questions out of six:     4x10=40 

Qu. 1. Show these points in diagram- Both MM – 034↑569↓. 
 Both MM – 034↑569↓ 

 
Qu.2. Write the protocol of ESR and show it in diagram. 

ESR  

 
Qu.3.  Write the name of 5 nerves of hand. 

Qu.4. Show the protocol in diagram – Both MF – All LVM - 036↑459↓. 
 Both MF – All LVM - 036↑459↓  

 
Qu.5. Write the names and basic function of the hormones released by Thyroid 

gland. 
 

 
Qu.6. Show this protocol in diagram – Toe NCH – 7/8 - 25↓17↑ 

 Toe NCH – 7/8 - 25↓17↑

  (Section-2) 
            Objective questions 
           



All compulsory.          30x2 = 60 
 

(1) Treatment of Kidney stone will be on - 
(a)  Lt RF – 5th Spm   (b) Rt IF – 5th Spm   
(c) Lt SF – 5th Spm   (d) None 

(a)  Lt RF – 5th Spm   (b) Rt IF – 5th Spm 
(c) Lt SF – 5th Spm   (d) 
 

(2) As per circulation, treatment of Right hand will be on - 
(a)  Rt MF    (b) Lt IF  
(c) Rt RF    (d) None 

 
(a)    (b)  
(c)     (d) 

(3)  Treatment of disturbed sleep is - 
(a)  LMM – 7↓8↑   (b) LMM – 3↑4↓   
(c) LMM – 5↓6↑   (d) None 

 
(a)  LMM – 7↓8↑   (b) LMM – 3↑4↓    
(c) LMM – 5↓6↑   (d) 

(4)  Treatment for Itching will be - 
(a) 036↑459↓    (b) 014↑239↓   
(c) 245↓37↑     (d) None 

 
(a) 036↑459↓    (b) 014↑239↓    
(c) 245↓37↑   (d) 

(5) As per Time Acupressure, energy of September month is - 
(a)  7     (b) 9  
(c) 8     (d) None 

 
(a)  7     (b) 9   
(c) 8     (d) 

(6) Which one is the cranial nerve - 
(a)  Vagus nerve   (b) Sciatica nerve 
(c) Radial nerve    (d) None 

 
(a) Vagus nerve    (b) Sciatica nerve 
(c) Radial nerve   (d) 

 



(7) As per circulation, treatment of head and neck will be done on - 
(a)  Both SF all LVM   (b) Both RF all LVM 
(c) Both MF all LVM   (d) None 

 
(a)  Both SF all LVM   (b) Both RF all LVM  
(c) Both MF all LVM  (d) 
 

(8) Treatment of seizure is Both SF K jts- - 
(a) 129↓056↑     (b) 036↑459↓  
(c) 34↑56↓    (d) None

 Both SF K jts-
(a) 129↓056↑     (b) 036↑459↓  
(c) 34↑56↓  (d) 
 

(9) Which nerve is connected to eyes - 
(a)  Hypoglossal nerve  (b) Olfactory nerve 
(c) Optic nerve   (d) None 

 
(a) Hypoglossal nerve  (b) Olfactory nerve 
(c) Optic nerve   (d)  

 
(10) Treatment of ESR is Lt RF-5/6 LHM - 

(a)  14↑23↓    (b) 36↓24↑  
(c) 36↑45↓    (d) None 
ESR  Lt RF-5/6 LHM -  
(a) 14↑23↓    (b) 36↓24↑ 
(c) 36↑45↓    (d) 

 
(11) Treatment of Lower Back pain will be on - 

(a)  Lt RF 4/5 Spm   (b) Lt RF 7/8 Spm   
(c) Lt RF 1/2 Spm   (d) None  

 
(a) Lt RF 4/5 Spm   (b) Lt RF 7/8 Spm 
(c) Lt RF 1/2 Spm (d) 

(12) Which nerve is related to legs - 
(a)  Radial nerve   (b) Femoral nerve  
(c) Ulnar nerve   (d) None 

 
(a)    (b)   
(c)    (d) 
 

(13) Protocol to increase hemoglobin is - 
(a) 34↑5↓    (b) 34↓5↑   
(c) 36↑4↓    (d) None  



 
(a) 34↑5↓    (b) 34↓5↑ 
(c) 36↑4↓  (d) 
 

(14) Treatment of pain in Rt upper 5th tooth is - 
(a)  NCH – 1    (b) NCH - 2 
(c) NCH – 5    (d) None 

(a) NCH – 1    (b) NCH – 2  
(c) NCH – 5    (d) 

(15) Blood minus Blood cells are - 
(a)  Bone    (b) Plasma 
(c) Protein    (d) None  

 
(a)     (b)  
(c) (d) 

(16) Treatment of HBP is - 
(a)  *7’ - ↓    (b) *5’ - ↓   
(c) *6’ - ↓    (d) None  

 
(a) *7’ - ↓    (b) *5’ - ↓
(c) *6’ - ↓   (d) 

(17) Treatment of Breathlessness will be on - 
(a)  Both IF V jts   (b) Both MF P jts  
(c) Both SF K jts   (d) None 

 
(a) Both IF V jts   (b) Both MF P jts
(c) Both SF K jts (d) 

(18) TSH hormone is released by - 
(a) Pituitary gland   (b) Thyroid gland  
(c) Adrenal gland   (d) None 
TSH  
(a)    (b)  
(c)    (d) 

(19) Treatment for Gastric trouble is - 
(a)  36↑45↓    (b) 14↑23↓   
(c) 34↑56↓    (d) None  

 
(a) 36↑45↓    (b) 14↑23↓ 
(c)   34↑56↓  (d) 



(20) Treatment of infection is – Lt thumb all LVM - 
(a) 0↑9↓     (b) 5↑6↓  
(c) 3↓4↑     (d) None 

Lt thumb all LVM-- 
(a) 0↑9↓     (b) 5↑6↓ 
(c) 3↓4↑    (d) 

(21) Insulin hormone is released by - 
(a)  Thyroid gland   (b) Pineal gland  
(c) Pancreas gland   (d) None 

 
(a)    (b)   
(c) (d) 

(22) Treatment of Diabetes will be given on - 
(a) Both MF K jts   (b) Both IF P jts  
(c) Both SF P jts   (d) None  

 
(a) Both MF K jts   (b) Both IF P jts  
(c) Both SF P jts   (d) 

(23) Treatment of Grah will be done on - 
(a)  Lt hand    (b) Left leg   
(c) Rt hand    (d) None  

 
(a)   (b) 
(c) (d) 

(24) Which one is the nerve of hand - 
(a)  Sural nerve   (b) Radial nerve   
(c) Femoral nerve   (d) None 

 
(a)     (b)  
(c)    (d) 

(25) Treatment for constipation will be given on - 
(a)  Rt SF 5th Spm   (b) Rt IF 4th Spm  
(c) Lt RF 7/8 Spm   (d) None  

 
(a) Rt SF 5th Spm   (b) Rt IF 4th Spm   
(c) Lt RF 7/8 Spm   (d) 

(26) Protocol for disturbed navel is - 
(a)  25↓17↑    (b) 36↑45↓  
(c) 36↓45↑    (d) None 

 
(a)  25↓17↑    (b) 36↑45↓
(c) 36↓45↑  (d) 



(27) Prolactin hormone is released by - 
(a) Thymus gland   (b) Pituitary gland   
(c) Adrenal gland   (d) None 

 
(a)    (b)   
(c)  (d) 

(28) Treatment of depression is Both SF -  7/8 RLHM - 
(a)  36↑45↓    (b) 12↑45↓   
(c)  47↓38↑    (d) None  

Both SF -  7/8 RLHM  
(a) 36↑45↓    (b) 12↑45↓ 
(c) 47↓38↑    (d) 
 

(29) Treatment of Cervical spondylitis will be on - 
(a) Lt RF – 7/8 Spm   (b) Lt RF – 5/6 Spm 
(c) Lt RF- 1/2 Spm   (d) None  

 
(a)  Lt RF – 7/8 Spm   (b) Lt RF – 5/6 Spm  
(c) Lt RF- 1/2 Spm  (d)  

(30) Treatment of Blurred vision will be done on - 
(a)  Both MF P jts   (b) Both IF P jts  
(c) Both SF P jts   (d) None  

 
(a) Both MF P jts   (b) Both IF P jts  
(c)  Both SF P jts  (d)  

         ……….. 


